<
CAEIOZ2! ST > 14 RFRBEEIS A FREARA > 11.0

Automation

14 RIS HE S

BiEH
fI1z 6,10, 16 1742 5,10, 15
B0 M5 5 o4 RIEEE#SK

H

4 > EERIEI

= Y W » AT i AMB LN A e iE
2 QR R

= > ELfH SMB LT

N

<

14 RIS B SE H 2 1A <EL SELAYEE A M5 IR 04 IR E
RIBRTFREARENZTEN. ZFRHNR  EAAHER. EETRBPEEHFREYMN
HRITREFRARERERKERELE AHRARHEL,

ANLERE—ER .

FEEH

b WA TRk

TEAR BEH

w7 HEER (BR) | TEEREHG, HESHEITEN

TEEAD 2.5+8bar

TERE 0+80°C (FHg=54-20°C)

Vv ERES, AREB. MERTHEEE, NABMAERHERE (BIWERMIS0Ve32 FigH)
H1Z 6-10-16 mm

1712 RERRHRTR

BERK BT IR S ELA

1/5.05.01 AATREX = RN, MAEE, BABTBEH

A RAT IS, FikEdETLuEES
201 BAFRMEERFTERLATMNEER



<

PRI > 11.0 SHPITIEN > 14 RImBRMESE  CAMOZZ
Automation

14 ZIHERHBSERS

14 N 1 A 06 A 05
]-‘i EX]
B3]
“I N=tRfER RS
1 IEAR HEEEFS
1=51EM so1
I\ SEEFR
A= 04 Bk -
M = M5 2%y \‘H;
06 = L?H
06=6mm - 10=10mm - 16=16mm i;
=
A EEAER -
A = SEEITIHE R RL E%
B = SHZE AT i R AL ~
x Ké
05 05-5mm - 10=10mm - 15=15mm N
-
—

MBS

so1

ANFREX - RBHENF], MEEE, BRBTEHN 1/5.05.02
FAEE@BTILGE, FitEETWREHEE T oo
BAFRMHEEFHTERANTMEEN 202



«
cAmozzi SHHUTIH > 16 RIVEIBRESE PEREARZE > 11.0

Automation

| 1n1A A B RIS E

TEEA AR
[EAAREEREL
SW1 SW2 [ c
HHH =T [aa]
r
B
)
= D
=
NS
<
—
RiH=®
S [oKES (i3 A B C D E F swi sw2 |
14N1A06A05 6 5 M10x1 3 4/2 34 29 5 9 12 3
14N1A06A10 6 10 M10x1 3 4/2 42 37 5 9 12 3
14N1A06A15 6 15 M10x1 3 4/2 47 42 5 9 12 3
14N1A10A05 10 5 M15x1.5 5 4/2 50 38 12 13 19 4
14N1A10A10 10 10 M15x1.5 5 4/2 57 45 12 13 19 4
14N1A10A15 10 15 M15x1.5 5 4/2 62 50 12 13 19 4
14N1A16A05 16 5 M22x1.5 6 4/2 53.5 39.5 14 20 27 5
14N1A16A10 16 10 M22x1.5 6 4/2 62 48 14 20 27 5
14N1A16A15 16 15 M22x1.5 6 4/2 67 53 14 20 27 5
| 14n1A ... B HRIS AT
TEEEFT IR T IMREL
[EOAPRIEEEL
SW1 SW2
-]
D
Rt&
S ke 7 A B C D E F Swi sw2 | L M
14N1A06B05 6 5 M10x1 3 4/2 38 29 9 9 12 3 M3x0.5 7
14N1A06B10 6 10 M10x1 3 4/2 46 37 9 9 12 3 M3x0.5 7
14N1A06B15 6 15 M10x1 3 412 51 42 9 9 12 3 M3x0.5 7
14N1A10B05 10 5 M15x1.5 5 4/2 50 38 12 13 19 4 M4x0.7 10
14N1A10B10 10 10 M15x1.5 5 4/2 57 45 12 13 19 4 M4x0.7 10
14N1A10B15 10 15 M15x1.5 5 4/2 62 50 12 13 19 4 M4x0.7 10
14N1A16B05 16 5 M22x1.5 6 4/2 53.5 39.5 14 20 27 5 M5x0.8 12
14N1A16B10 16 10 M22x1.5 6 4/2 62 48 14 20 27 5 M5x0.8 12
14N1A16B15 16 15 M22x1.5 6 4/2 67 53 14 20 27 5 M5x0.8 12
1/5.05.03 AASREX - RUHAORF, MEEE, BRBTEA

A RAT IS, FikEdETLuEES
203 BAFRMEERFTERLATMNEER



=R EHEA > 11.0

| onim. A B RR ST

SEHATIT

> 14 RIIHBRBISE

EEATH AR
SO HBEEN
- B
F E
R+%
e DK (i3 A B C D E F Swi sw2 I N 0
14N1MO6A05 6 5 M10x1 3 M5 28 23 5 9 12 3 5 6
14N1M06A10 6 10 M10x1 3 M5 36 31 5 9 12 3 5 6
14N1MO6A1S 6 15 M10x1 3 M5 41 36 5 9 12 3 5 6
14N1M10A05 10 5 M15x1.5 5 M5 43 31 12 13 19 4 5 6
14N1M10A10 10 10 M15x1.5 5 M5 50 38 12 13 19 4 5 6
14N1M10A15 10 15 M15x1.5 5 M5 55 43 12 13 19 4 5 6
14N1M16A05 16 5 M22x1.5 6 M5 46.5 32.5 14 20 27 5 5 6
14N1M16A10 16 10 M22x1.5 6 M5 55.5 41.5 14 20 27 5 5 6
14N1M16A15 16 15 M22x1.5 6 M5 60.5 46.5 14 20 27 5 5 6
| 14n1m..B... B BRIS AT
TEEA I IMEL
_ SO KRN
} m
SW1 SW2 -
B
[aa]
B 0 1
i
/ /
_ N
F E
R%
il Ak ot A B C D E F SW1 Sw2 | L M N 0
14N1M06B05 6 5 M10x1 3 M5 32 23 9 9 12 3 M3x0.5 7 5 6
14N1M06B10 6 10 M10x1 3 M5 40 31 9 9 12 3 M3x0.5 7 5 6
14N1MO06B15 6 15 M10x1 3 M5 45 36 9 9 12 3 M3x0.5 7 5 6
14N1M10BO5 10 5 M15x1.5 5 M5 43 31 12 13 19 4 M4x0.7 10 5 6
14N1M10B10 10 10 M15x1.5 5 M5 50 38 12 13 19 4 M4x0.7 10 5 6
14N1M10B15 10 15 M15x1.5 5 M5 55 43 12 13 19 4 M4x0.7 10 5 6
14N1M16B05 16 5 M22x1.5 6 M5 46.5 32.5 14 20 27 5 M5x0.8 12 5 6
14N1M16B10 16 10 M22x1.5 6 M5 55.5 41.5 14 20 27 5 M5x0.8 12 5 6
14N1M16B15 16 15 M22x1.5 6 M5 60.5 46.5 14 20 27 5 M5x0.8 12 5 6
AATREN - SBCHRF, METE, BFBTEM 1/5.05.04
FAFSRT TSRS, ZiEEET v HRSHEE T o

BAFRMHEEFHTERANTMEEN

<

CAMOZZI

Automation

14 &3





